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Hello, I'm Rania and I'm here today to introduce you to the main reason behind the failure of all these
young people, which primarily stems from the prevailing economic system in Algeria, namely the mixed

economy system And it can be defined as combines both capitalism and socialism to solve basic Indeed,
this system helped us to revive our economy after the destruction caused by Colonization, but now it is

impacted in various ways.It combines the elements of both market and command economies, leading to
challenges such as inefficiencies, bureaucratic hurdles and a lack of innovation.Additionally, the reliance

on oil and gas revenues has made the economy vulnerable to fluctuations in global energy prices,
hindering diversification.Efforts and sustainable development.And now I've presented my

perspective.What ?About yours


